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[1] x=3 Dé&E [2] x=—2 DL=E

1 x+1 = 3+1 = 4 D x+1 = (—2)+1 = —1
OTRALEIE. TRDYIZARBICE! ZITIEXD OT— 1D (BN 1F. ( JIZARTHRAT !
KHYIZBEANZDTE("0Mb ( 4 ) ChAZEEARIMNZVS) ( -1 )
(2 2x = 2xx = 2x3 = 6 (2 2x= 2xx = 2x(=2) = —4
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( 6 ) ( —4 )

8 —5x = —5xxy = —5x3 3 —5x = —5xx = —5x(—2)
= —15 = 10
SCITIAEAT L WAL D ( —15 ) ( 10 )
(4 —x = —1xx = —1x3 4 —x = —1xxy = —1%x(—2)
= —3 =2
( -3 ) ( 2 )
(6) x? = xxx = 3x3 =9 B) x*? = xxx = (=2)x(=2)
= 4
( 9 ) ( 4 )
6) —2x2 = —2x xxx 6) —2x2 = —2x xxx
= —2x3x3 = —18 = —2x(—2)x(—2) = —8
( —18 ) ( —8 )
(7 —x2 = —1xxxx () —x%2 = —1xxyxyx
= —1x3x3 = —9 = —1x(—2)x(—2) = —4
( —9 ) ( —4 )
® 2x—7 = 2xx—7 (8) 2x—7 = 2x x—7
= 2x3—7 = 6—7 = —1 = 2x(—2)—7 = —4—-7 = —11
( —1 ) ( —11 )
(9) —4x+3 = —4x x+3 (9) —4x+38 = —4x x+3
= —4%x3+3 = —12+3 = —9 = —4%x(—2)+3 = 8+3 = 11
( —9 ) ( 11 )
(100 x24+1 = xx x+1 (10) x2%2+1 = x x x+1
= 3x3+1 = 9+1 =10 = (—2)x(—2)+1 = 441 = 5
( 10 ) ( 5 )
(1) —x?—8 = —1xxxx—38 (11) —x?—3 = —1xx%x x—3
= —1%x3x3—3 = —9—-3 = —12 = —1x(—=2)x(—=2)—8 = —4-3
( —12 ) = —7 ( —7 )
(12) —8x%4+6 = —3xxyx x+6 (12) —3x%2+6 = —3x xy X x+6
= —3%x3x3+6 = —27+6 = —21 = —3x(—2)x(—2)+6 = —12+6

( —21 ) = —6 ( —6 )
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